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1 KB = 1000 bits = 10/3 bits

1 KiB = 1024 bits = 2710 bits
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*d=L/R1+L/R2+L/R3 +d1/s1 +d2/s2 + d3/s3 + 2dproc

« {8 \15 dproc=3ms, L=1500*8bit, R1=R2=R3=2*10"3bit/ms,
s1=52=53=2.5¥1022km/ms, d1=5000km, d2=4000km, d3=1000km75

* d= 6+6+6+20+16+4+3*2=64ms
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N . tprop = 20000km /(2.5 x 10%)m/s = 0.08

R X tyrop = 2Mbps % 0.08 = 160000bits
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a) Time to send message from source host to first packet switch = o sec =4sec With
X

store-and-forward switching, the total time to move message from source host to
destination host = 4secx 3 /iops =12sec
x10*

b) Time to send 1% packet from source host to first packet switch=. ;Tsec =5 msec.
X

Time at which 27 packet is received at the first switch = time at which 1% packet is
received at the second switch = 2 x 5msec = 10 msec ¢

c¢) Time at which 1% packet 1s received at the destination host =
5 msecx 3 hops =15 msec . After this, every Smsec one packet will be received; thus

time at which last (800%™) packet is received = 15 m sec+ 799 * Smsec = 4.01sec. It can
be seen that delay in using message segmentation is significantly less (almost 1/3r), <
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